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Solutionbank Edexcel AS and A Level Modular Mathematics
Mechanics 3

Exercises: [¥4 Questions: [3Y

Question:

Calculate the magnitude of the impulse of a force of magnitude # N acting from time
& seconds to time £, seconds where

a F:zz’—%z =0t =

b F=2+

¢ F=2cosdt z,:o,azg,

d F=3+e* 4=0,1,=4

Question Hint Solution
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Solutionbank Edexcel AS and A Level Modular Mathematics

Mechanics 3 3 Further dynamics. ™

Exercises: [¥4 Questions:

2
= +in(-2
+3in )‘

:4+lln(6*2)*[1+lln1]
3 3

—3+lma
3

= 3462
The magnitude of the impulse is 3.46 Ns (35.£)

3 2 g
3 Impulse:J‘ 2cosdt de =| Zsin4¢
o 4 )

1
= [sin—sin0
Al ]
=1
‘The magnitude of the impulse is 1 Ns
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